Name: Quiz 3
Math F252X-901, Calculus II Fall 2024

Thirty minutes maximum. No aids (book, notes, calculator, phone, etc.) are permitted. Show all
work and use proper notation for full credit. Answers should be in reasonably simplified form.

1. Set up integrals to calculate the following values. Do not calculate the integrals!

(a) (5 points.) The length of the curve y = 22° — sin(%F) on the interval [1, 6]
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(b) (5 points.) The area of the surface formed by revolving the graph of y = In(z) on the
interval [2,4] around the z-axis.
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(c) (5 points.) The area between the curves 22+ z and 6 —x2. (Yes, this i 1sarev1ew problem.)
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2. Consider the region bounded by the curves y = 6_9’52, y=0,z=1,and z = 2.
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(a) (3 points.) Sketch the region.

(b) (8 points.)Find the lm of the region obtai dby otating the r about the y-a
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3. (4 points.) (BONUS!) Stp integral to ﬁdth fth urface obtai dby rotating
the regio b ddbyth ey = 6z — 22° dth b tth e y-axis
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